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Question ONE: Write the symbol of the most correct answer in the blank.

1.
[ ]

The critical values χ2
R and χ2

L for α= 0.05 and n = 12, are:

(A) 3.816, 21.920 (B) 3.053, 24.725 (C) 2.603, 26.757 (D) 4.575, 19.675

2.
[ ]

In a hypothesis test, a Type I error occurs when:

(A) a false null hypothesis is rejected (B) a true null hypothesis is accepted

(C) a true null hypothesis is rejected (D) a false null hypothesis is accepted

3.
[ ]

In a hypothesis test with hypotheses H0 : µ = 60 and HA : µ 6= 60, a random
sample of 42 elements selected from the population produced a mean of 61.4. Assum-
ing that σ= 5.5 and the population is normally distributed, what is the approximate
p−value for this test? What would be your decision if the value of α is 0.05?

(A) p−value = 0.0990, and we reject H0

(B) p−value = 0.0990, and we accept H0

(C) p−value = 0.0069, and we reject H0

(D) p−value = 0.0069, and we accept H0

4.
[ ]

A researcher wants to test if the mean price of houses in an area is greater
than $145,000. The alternative hypothesis for this example will be that the popula-
tion mean is:

(A) H0 :µ≤ $145,000 (B) H0 :µ< $145,000

(C) HA :µ≥ $145,000 (D) HA :µ> $145,000
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5.
[ ]

The alternative hypothesis HA is a claim about a:

(A) parameter, where the claim is assumed to be true if H0 is declared false

(B) statistic, where the claim is assumed to be true if H0 is declared false

(C) parameter, where the claim is assumed to be true until it is declared false

(D) statistic, where the claim is assumed to be false until it is declared true

6.
[ ]

The standardized text statistic to test the claim about the population propor-
tion p ≥ 0.132 given n = 48 and p̂ = 0.11 is:

(A) −0.450 (B) −1.645 (C) −0.574 (D) −0.124

A sample of 12 from a population has x1 = 86.5 and s1 = 16. A sample of
16 from another population has x2 = 72.7 and s2 = 14. Assume that the two
populations are normally distributed and σ1 6= σ2. The null hypothesis is
H0 : µ1 = µ2, while the alternative hypothesis is HA : µ1 6= µ2. Given α = 0.05,
answer questions 7, 8, 9, and 10.

7.
[ ]

What is the number of degrees of freedom of the t distribution to make a
decision about the difference between the two population means?

(A) 26 (B) 15 (C) 11 (D) 12

8.
[ ]

What is the standard deviation of the sampling distribution of the difference
between the means of these two samples, rounded to three decimal places?

(A) 33.582 (B) 5.795 (C) 2.898 (D) 16.791

9.
[ ]

What is the critical value of t for the hypothesis test?

(A) 2.201 (B) 2.179 (C) 2.056 (D) 1.796

10.
[ ]

What is the value of the test statistic, t0, rounded to three decimal places?

(A) 1.605 (B) 2.157 (C) 2.502 (D) 2.381
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